The Proof of Assertion (3.30)

S.-Y. Huang and S.-H. Wang

Assume that e = ggzz <e<eg = %. We recall the assertion (3.30):
for 0 < u < po,
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where A, = ¢ (p5 —ut), By, =0 (p3 —u?), Dy, = p(p2 — u), and
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Proof of assertion (3.30). By Lemma 3.2 in [1], we have that
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Since py < 0/(2¢) and N < 0, we compute and observe that, for u > 0
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By (1) and (2), we compute and observe that, for 0 < u < po,
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By Lemma 3.4(iv) in [1], we have that
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By (1), (3), and (4), we observe that, for 0 < u < pa,
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Similarly, by (1), (4), and (5), we compute and observe that, for 0 < u < ps,
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So by (1), we compute and observe that, for 0 < u < pa,
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It follows that U(u
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) is a strictly decreasing function of u on (0,ps). Clearly,
> U(pg) =0 for 0 < u < py. Then (3.30) holds.
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